SF0 445y i = X 15
HXATE 4 < IndET HEEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| HEFHT £ P DU —fti 2. T 51— |~ —
LIS D Ktk
1 Raainwy 40 | 1L1|d 5.4 13F 5.5P 55 | —
2 FELS o 40 | L1|F 2.9 6.4 4.0 4.2 | —
2 IR P2 P X S5k —fh 2. 4l 7.4 — - -
EEUA ORI 40 | L1 3.8 8.8 5.7 5.7 | —
AT [k (Are: 40 | 1.1 e - -
AT AR X g
1 R —fl 2. 40 5.0 — -l -
2 kRSO KK 40 L1¢23E60¢ o 10— —
MEGIHT b X 40 | 1.1 e - =
A AR K
1 B B g —f 3. e84 — |~ —
2 hEESA DX
(1) BREmB 40 | L1|# 5.8H 15 9.4P o4 - —
(2)  EFLAS O HR 40 | L1|f 3.6 9.0 8.6 8.6 —| —
it _EHT 5 F i Xk —l 2.5 5.00 - - —| -
LFRELLS D K3,
1 FGERW 40 | 1L1|f 4.3 12 .50 7.5 - —
2 _ERCEA DR 40 | L1 2.7% 6.7% 6.1t 6.1 - -
Frsg T Fot Y b R s — 2.800 5.3 - - —| -
EFRLA o I
1 REBW 40 | L1(F 3.7F 13 4.4 4.4 — -
2 LS o 40 | L1|% 2.8% 7.7 3.8+ 3.8 — —
HASET =353 p:iN —fh 2.6l 5.8 — -l -
BRI 0> KR
1 RERW 40 | LU o4l o1 9.7 97 | —
2 kLSO 40 | L1|F 3.3 .o 6.4 6.4 —| —




A0 A5y s ® K 2H
i KET A4 . IndETH R E
e R ks @ A o w4 [P PEEERTIBEITOGES
% A = * ® = # ®
5| bEpET £ P DU ot 2. 908 6,60 —| —| - —
LIS D Ktk
1 Raainwy 40 | L1|d e.d4b 4F 9.2P oy | —
2 _EILISN o HE, 40 | L1 sl .9 6.8 6.8 —| —
4 JBRT Ege 40 | L1|d 3.0F 5.8+ 5.9P 5.9 | —
BEERAT ot (A 40 | 1.5| tb¥E e phvE ke | —
AT LA DI
1 RAHEER — 3ot 5.4 | | | —
2 LRSI
(1) [E3E - B = AR - Bl 40 | L1 e 3 12 9.5P 95— —
EBFEAHRIE
(2)  EFLSh oK 40 | L1 4off 6.9 9.9 9.2 —| —
KT ANV A > 47— 28 [ i X 7 X 40 | L1|P 3.8 6.6 7.3 7.3 | —
LA ORISR 40 | L1 3.8 6.gh 7.3 7.3 | —
| ETET l=353F: i1 —l 2.8t 5.4 | —|  —|  —
RERLIA D KI5
1 RERW 40 | L1 3.5/ 9.8 8.6 8.6  —| —
2 kLSO 40 | L1|F 2.8 6.1 6.7 6.7 —| —
KPIHET IR 40 | L1(F 3.6 48F 6.7 5.7 —| —
RASHET 2 F Xtk —l 2.6l 5.4  —| —| —| —
bR DK
L SEFALA 40 | L1|¥ 3.6F98f 40P 40 | —
2 _EFLSh oM 40 | L1|F 2.9 6.0 3.1 3.1 —| —
BT 2 L X3 —l 2. 860 5.1 —| - - —
LA D KI5
1 RiEiRw 40 | L1(F 5.2 9.3% 3.9 3.9 —| —
2 LRELSt O 40 | L1|% 3.6 5.8 3.1 3.1 - -
KAy R Hb X —fd 2. 158 3. 6 - - — —
LFELAS D R t5k




SF0 445y i = X 3E
i KET A4 . IndETH R E
e R ks @ A o w4 [P PEEERTIBEITOGES
| KHIET 1 FSERW 4ﬁ 11| 32@ rzm 4@4145 [
2 ERLIS 0K 40 | L1z a2 3h 3] - —
By HIREET fr P M X —l 2.500 4.4 —|  —| —| —
RIS K
1 R 40 | L1(P s 124 47— —
2 EELISh o HiE 40 | LA|d 2.7 6o 4o 49 | —
NsbiN:Ela) FE A i X I —l 3 et 501 | | | —
ERRLISh O KR
1 EERV 40 | L1453 129 44 4.4 | —
2 LSO K 40 | L1434l 6 1 3.3t 3.3 —| —
bR RE SRR IR 40 L1¢2J¢33L30L3n - -
& LEY 2 H —l 3. 300 5.0 |  —| —| —
EFRLIA O K
1 RIERW 40 | L1|F et 12 4.4P 44 - -
2 RSO MR 40 | 11| 4.3 560 3. 460 3.4 - —
e ARET [EicRlAEe: 40 | 15| M mﬁrm;Fmﬁ - -
TR R X g
1 R —el 2,60 5.4 — -  — —
2 LRSS o XK
(1) [FEhE - BaEiRy 40 | L1|¥ 4.0 124 8.gP 8 —| —
(2)  ERRCLASOHUER 40 | 1| 3.0 6.9 6.5 6.5 —| —
RG4S T £ P L U —t 2.6 6,00 —| - - -
ERLEAA D X I
1 RaEnwy 40 | L1|d 41 L 8.8P 88 | —
2 LELIS o i, 40 | L1|F 3.0 7.9% 8.4 8.4 | —
&| FEm AT =i 40 | L1(P 2.7 6.4% 6.5 6.5 —| —
JEET et 40 | 11| 3.2/ 6.8 5.3 5.3 — —
<| FEIERT F I —%2@&44 -1 - - -




SF0 445y i = X 1H
HXATE 4 < IndET HEEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
<| EIERT LFCRAS D X teR
1 REBW 40 | L1|H 67+ 9.8% 4.6+ 4.6 — —
2 LERLIA o i 40 | LU|dos o5 TG 3.8 3.8 —| —
2 HET Fik ) 1 [ 35, —l 3. 9 | | | —
ERRLIA O Kk 40 | L1 42 8 7d 4 Tb 47 — —
BAET it FH 1L X3 —hl 180 4.6 0 —|  —|  —| —
ERRLISN O XI5
1 RaEimw 40 | L1fP 29t 8t eqheq  —|  —
2 LRELU o i 40 | L 1|4 2.1 5.2% 5.6 5.6 | —
ZJL FET R R X3 —to2.g0t 5.2 | —|  —|  —
R O K IE
1 RiERW 40 | 1.1|% 3.5+ 9.8F 9.8F 0.8  — —
2 LELU OISR 0 | L1|F 2.7F 6.2% 7.6fF 7.6 —| —
Z| ZNEDEgHT B2 P X —l 2.0l 4.3 —| - - -
LRELLA DR S5
1 RGERY 40 | 1.1 - s yhsy - =
2 EFLA o sk 40 | L 1|H 2.3/ 6,08l 3.7l 3.7 —| -
T PIET = PR I —l 3.0 4.9 —-| - - -
LRCLASR D I
1 JRERW 40 | L.1(F 5.9 14 4.5 4.5 — —
2 FECLISh o 40 | L1 3.3 5oGHE 3 4E 3.4 —| —
&| SRET £ P L U —fti 2.8 724 —|  —|  —| -
ERLEAA D X I
1 RaEnwy 40 | Loy a1 - —
2 ELS o 40 | L1|F 2.8 9.6 10fF 10— —
STAT fi P b X3 —l 2.9 5.7 | —| - -
ERLEAS DK
1 HSERL 40 | L1|F 3.8/ 9.3 9.9 9.2 | —




ST 495y i = X 5E
HXATE 4 < IndET HEEE
e R ks @ A o w4 [P PEEERTIBEITOGES
&| HRoCHT 2 ERELSA ORI 40% 11| 2.%3 G.EEP 5.{243 5% [
SAHT l=3jibeilEN —t 2. 4 6.2f - —| | -
LERLEAS D K
1 RERWy 40 | L[ 3.3F 9.8F 6.9 6.9 | —
2 FEREAAh o Mgk 40 | L1|H 2.8F 7. 5.9 5.9 — —
HEHT it FH 1L X3 —hl 3.4 5.3 | —|  —|  —
ERRLISN O XI5
1 RaEimw 40 | L1fp s oo 8P | —
2 LRELU o i 40 | L1|4 3.9 5.7 5.9 5.9 —| —
AT Eet’ 40 | 1.1 |4 2.8 5o 3.7l 3.7 | —
L BT ) R —l 2. 80 5.3 | —| —| —
LRELIA D RS
1 RGERW 40 | Li|[FeqF wF 8P 8] —| -
2 _ERLEA iR 40 | L.1(% 3.3 6.0 6.5 6.5 —| —
TIFHEET = [ —l 2.6l 4.7 - - — —
ERELAS D I
1 RIER 40 | L1(P 4.9F 1y 5.2h 52 - —
2 LEELUt oM 40 | L1|H 2.9 6. THE 401 4.1 | —
T FESFET I 40 | L1|F 2.8% 4.3 3. 5[; 38 - -
TIEILET = i X 35 A e B e
RS oD K Se
1 RSERWY 40 | L1Uff o4 v 47 47 - —
2 ERCEA s 40 | L 1|4 3.3 o.58 3.8 3.8 — -
TEARET A Kk
1 PURATHP B LIS X ETE 40 | 1.5 | be#E bk HevE peng | —
ES:3
2 LFEELA DK 40 1.1| Lb#8 Lbb#s pRME bREE - -
T LA X
1 AR —Jid 2. THE 5. 4 - - - —




SF0 445y i = X 6
HXATE 4 < IndET HEEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
L| FEARHET 2 RSO
(1) EhE - BaEne 40 | L1|H 4.2 12 9.5% 9.5 - —
(2)  LFELSOHRL 40 | 1L.1|% 3.F 6.8F 7.8F 7.5  — -
A BT ESeEn 40 | L1 .o s9F 6P 61— —
4 TATET Ege 40 | L1|P 2.3 4. 70 5.0 5.0 | —
7| KRIHET K 40 | 1.1 % 2.3 4. 3% 3. 5[: 35 - —
A ORT Bty 40 | L1 o2.9fh 5T 5 4t 5.4 —| —
AHT PR P L X3 —l 2. TRt 6.2 | —| | —
RS DK
1 EER 40 | L1|4 5.0k 134 8.6 8.6 —|  —
2 hEEA o i 40 | L1430 7. 7.0 7.6 — —
FR LAY 2 HE R —f#t 3. Ol 5.7 - - - -
EFRLIA O K
1 RIERW 40 | L1|F s 14F .P 78—  —
2 LA oHER 40 L1934 7.69 6. 114 6.1 - -
EHT b ik — | AR | LhME LhHE kMR phIE - -
T LA X
1 R —l 3.epi 7.1 | —| - -
2 LRSS o XK
(1) FaE#HE 40 | L1|d s 5F 12Foshoy  —| -
(2)  EEBAS MR 40 | L 1|H 4.3 8.4 8.9h 8.9 —| -
EEFHT £ P L U —foti 2.8 5.5 —| —|  —| -
ERLEAA D X I
1 RaEnwy 40 | L1|d 4o 12 1gh 10 | —
2 ELS o 40 | L1|F 3.6 6.9% 9.9 9.9 | —
4 BT fi P b X3 —l 2.8 5.4 | - | —
ERLEAS DK
1 HSERL 40 | L1|F 5.3 130 4.4 4.4 | —




SF0 445y i = X 7H
i KET A4 . IndETH R E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
7z| RAET 2 RERLSOHI 40 | 1.1 3.1 6. SF@ 3. Tm 3.8 - -
BTHT T b Kk 40 | 1.1 ¥ HhWE e e — —
AT {L A X
1 BRI —#f 2.7l 5.5 — — — —
2 EELIAA DX
(1) BEB 40 | L1|d 528 U 7.6P 76— —
(2) RSO HE 40 | 1.1 3.5/ 6.3 4P 47 | —
| HRYHET PR P L X3 —l 2. ot 501 |~ | —
RS DK
1 BEmu 40 | 1.1 |4 3.3 g6 9 1R 9.1 | —
2 kRRLAA o sk 40 | L1|# 2.8 6.4 6.5 6.5  — —
L AR AEs: 40 | 11| Y bLYE BLYE YR | —
AT AR X
1 B —d 3. upio6. 4 —| - —| =
2 LRERIA DK
(1) FERW 40 | L1|f 5.9 13F 9.8H 9.8 | —
(2) kRSSO 40 | L1 3. 7R 6 1 9.2 0.2 - —
&| AR ARk 40 1.1 Lb#8 bbdE EbME  RRYE - -
A LA KR
1 BT —l 2. 860 5.9 - - - -
2 LFEEA ORI
(1) REBW 40 | L1|F 5.8% 13+ 9.8 9.8 — —
(2)  _LEELASh D HEL 40 | L1|h 3.9 7.8 9.4h 9.4 —| -
F HFET P P L X fgk —t oo i 51— | | —
EEELMSN 0 I
1 B 40 | L1(P 3.8F 1y 9.5f 9.5 — —
2 _EELISko M 40 | L|dosoff 6l 74 7.4 | —
B T £ X A —J#ti 3. ofﬁg 6.0 — - - -




ST 495y i = X 8
i KET A4 . IndETH R E
S (TR wass @M m oW g [P ACEERTEECEA RS
% = 2 e & # ®
&| BRIRET LFCRAS D X teR
1 AERAHIETRRI 40 | L1 4.9 13 .gb e~ —
2 A &K IIE R |40 | L1|h3.5f e ey | —
3 _EILISh o HE, 40 | 11| 3.5 Tl egfb ey | —
Samr FE PR M X3 —#l 2. 40 5.2 | —|  —| —
LFREIA D K 5
1 BSEmy 40 | 1.1|h 3.8 uffoe.gp oy | —
2 _EFLEISF MR 40 | L1(P 2.7 6.5 9.4F 9.4 —  —
2 ENT i A KR — 2.5 5.0 | | | —
PG A o 2 —PE 2 R Hi ] X o
1 RaEHw 40 | L1 7 3Foboz | —
2 _EFLSh oM 0 | L1|F 3 UF 6.3% 7.9 7.9 —| —
EFRLIA O K
1 RIERW 40 | L1 g 3 ohoy - -
2 EFELSt MR 40 | L1|R 3. 1R 6.3 7.0 7.2 | —
PG ET = F i D —l 2. 860 5.7 —| - —| —
RFRRLIA D K S5
1 RaEiRw 40 | LU 4poo oo poey —| -
2 EERLA O 40 | L1fP 3.5 7.1H 5.3P 53— -
HrERET itk Rk
1 BERATE I E ML S X EE 40 | 1.5 ¥ Ho by W - -
R gk
2 ERLEA DR 40 | 1.1 b PRYE RLYE HeYMH O | —
AL R X5
1 B —l 2.4t 5.4 —| - —| =
2 LRERIA DK
(1) EhE - BEpny 40 | L1|F 41 127 9.84 9.8 | —
(2)  EFELASOHIIR 40 | L1|h 27k 6. 9f o.2h 9.2 —| -
GallIL] fe P 4 X33 M 2. 239 - | —  —




SF0 445y i = X I
HXATE 4 < IndET HEEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
72| A LET LFCRAS D X teR
1 REBW 40 | L1|F 4.6 10 5.0F 5.0 — —
2 LERLIA o i 40 | L1 |H 2. 4FF 4030 340 3.4 | —
() P _EPET L K — | BB | % l:l:@r J:I:@Ftti‘% - -
[iRcaglor | dEe
1 AR —ht 3.5 8.6 —| —| —| —
2 RELU DK 40 L1$BJE 12 8.2 8.9~ —
Ve AT PR P L X3 —l 2. TRl 5.7 | | | —
RS DK
1 EER 40 | L1|4 5o 128 ok .0 | —
2 hEEA o i 40 | L1|# 3.2 6.6% 5.5 5.5 — —
P48 T 2 H I T B I R
EFRLIA O K
1 EiE - RElR 40 | L1 4.8fF 13%F 10 100 — —
2 LEELUS O R 40 | L1|F 2.9 7.2 6.9F 6.9 —| —
PARI ST = F i —ffd 2. 48 5.3 - - — —
RFRRLIA D K S5
1 RaEiRw 40 | L1|F 5 3F 3 5P 5T~ —
2 EERLA O 40 | L1fh 2.8 6.1F 4.5 45 —| -
P T = PR Ik —l 2.5 6.0 - —| —| -
RS oD K Se
1 RSERWY 40 | L1|P 4.0 12 8.7 8.7 | —
2 ERCEA s 40 | L1| 2.9 7.5% .00 7.0 — -
i iseguy F P K3 i 2.3%6 5.0f  —| | —| —
EERLIA 0 X
1 B 40 | L1(P4a3f felhey — —
2 LFELh o g 40 | L1 2.6/ 5.9 4.9 49—  —
PaAE T £ X A —%33&7@ -1 - - -




ST 495y i = X 105
i KET A4 . IndETH R E
e R ks @ A o w4 [P PEEERTIBEITOGES
V2| P AR ET Bz oK 40% 11| 4.%3 8.§¢ 5.{343 5f2 [
7| PR BNy 40 | 1.1 (% 2.8 640 6.2 6.2 - -
Wp_LAT fr P M X —l 1.ge 4.6 |  —|  —| —
RIS K
1 R 40 | L1(P 3.9F 14f 5.6 5.6 —| —
2 LFELIA o i 40 | 1L1|d 2.0 50 4. TEE 4.7~ —
% FHET FE% P XA —#t 8.3t 5.2 | | - —
ERRLISh O KR
1 EERV 40 | L1|4 4.9 9. 7.6 7.6 —|  —
2 LSO K 40 | L1|4 3.7 58 5o 5.y | —
i3 JmET ) R —l 2.8 5.0 | —|  —|  —
LRELIA D RS
1 RGERW 40 | LLU|[F 4.7% 11F 5.7 56 —| —
2 hEELAh oo Hitdk 40 | L1|% 3.3F 6.6 4.4F 4.4 — -
414 DEkEaR (=% 40 1.1 Lb%8 bb¥E ELME  RREE - -
T LA X b
1 R —l 2. T 6.4 —| - = -
2 LR DK
(1) EhE - BaEmy 40 | 1| 6.3F 16F 10 100 0 —| —
(2)  LREEASh D HiE 40 | L1|P 4.0 8.1 9.6 9.60 —| -
O HEAS £ 40 | 1.1|f 2.7/ 5.4F 6.0fP 6.0 - —
AL T £ P L U —fti 2.8 5.7 —|  —| - -
ERLEAA D X I
1 EE - FaEney 40 | L1 o4 1ih 8.6 8.6 —| —
2 LELIS o i, 40 | L1 sl .9 6.9 6.9 —| —
LAY ET 2 P i X —#l 2. 4458 5.3 - - — —
LFREIA D K i
1 HSERL 40 | L1|F 5.8 139 9.8 9.8 |  —




ST 495y i = X 11E
i KET A4 . IndETH R E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
N SERISRET 2 RERLSOHI 40 | LifP 3 e e Py - —
SRR T P X3 —t 3. A 7.8 - —| - —
LRSS 40 | L1 4.9 8.gth 8.0 8.0 —|  —
TR BT l=353F: i1 —l 2. 88 5.0 | —|  —|  —
EERLS O K
1 FSESL 40 | L1|d o4l 1ih 6.4 64— —
2 REOLISh o HiE 40 | L1 3.2b 5.8 5.8 58—  —
FEE T PR P L X3 —l 2. TRl 5.7 | | | —
RS DK
1 EER 40 | L1|4 4.8 134 8.6 8.6 |  —
2 hEEA o i 40 | L1|H 3.5 7.2 5.2 5.2 — —
L5 fE T 5 A M IR 2.8 5.7 | | | —
EFRLIA O K
1 RIERW 4 | LifF 4ot e9gheyg —| -
2 LEELUS O R 40 | L 1| 3.2 7.2 5.4 5.4 | —
AT R FE X I i 2.9 5.1 —| - - -
RFRRLIA D K S5
1 RaEiRw 40 | L1|F 5.0 13F 7.8F 7.8 — —
2 EERLA O 40 | L.1|P 2.9 5.8% 5.5 55 —| —
-~ BURTHT = PR Ik —l 2.6 5.0 - - - -
RS oD K Se
1 RSERWY 40 | L1|f 5.8F 14 5.6% 5.6 —| —
2 ERCEA s 40 | L1|f 3. 7.5 40 40— -
BIIRFET Fr P I —WE 2.0 5.5  — — — —
EEELMSN 0 I
1 B 40 | L1 3.7F oy oey — -
2 _EELISko M 40 | L1 3.2 6.6 8.0h 8.0 —| —
(# JE&NTER AT b XIS — | BRER | Lhif| b i bkl | -




ST 495y i = X 128
HXATE 4 < IndET HEEE
e R ks @ A o w4 [P PEEERTIBEITOGES
(3 AL4HTE A T LR P 40% 1. 1%43 5.;{3 1% 9.{343 9% i [
Jege T 2B BSER 40 | L1 8.4 200 120 12 | —
LIS o Hitd; 40 | L1 s 12 8o 8.y | —
JEZeRT /N [k (A% — | BRMR | Pt bkWE pbvE bR | —
[iRcaglor | dEe
1 FSESL 40 | LU o7 o19h 14 14 | —
2 hE B EhEGE X Y o Hk 40 | L1|P sgh 14fF 14h 14 | —
3 kEICLAh o> sk 40 | L1[P 4.4 1270 9.0 9.0 — —
El U L IR — | BEHR | Ph¥E Lk¥E  LRHE LRYE - -
TR b A X
1 REBN 40 | L1919 15b 15 | —
2 LECBUt o HbR 40 | L1|F 5.3 8.6% 9.3F 9.3 | —
ALSRHTPE R [EEEIE (A% — | B | Pt EkHE bW W | —
T LA X 40 | L1(Feof 1270 12 12 — —
LT IRE = [EREa AR
1 BT e — | AR | LhME LhHE kMR phIE - -
2 hEELIA o Mg 40 1.1| fb#E [edy bhYE i - -
A LA K ik
1 FETEHOGE =ARRERR 40 | L1 o2 g 5P o135 | —
2 FEHFHFEGDILEHREND 40 | LifRoo2d o7 ow3b o113 - -
3 REELU o R 40 | L 1| 44 8ogh 9 1 9. | —
JE4eRT kel — | BRAR | PbME LbkME pbME MR | —
LA X 40 | L1(P 7.6 1f 13 13— —
JEZR BT (ke |qEs= — | BRAR | PbME bbYE LbMH pLWE -
T LR Xk
1 B 40 | L1(P 8.6 20 13 13 — —
2 LFELh o g 40 | L1 46 7.8 10k 10 |  —
JEERT R 1~ 7 T Bl&i — | R | fhiH LkEE Lbdy eME | —




ST 495y i = X 138
i KET A4 . IndETH R E
e R ks @ A o w4 [P PEEERTIBEITOGES
(F ALEeET % [ikcaklaES: —% E@%ﬁp tl:zf; ttz’g tt£ ttiél B -
A LA X I 40 | L 1P 6.5 17 18 18— —
L SETH (kR |MEe: — | BSAR | fh¥E bkve vE [kvE - -
TR b A X Ja 40 | L1|f e 5 12 9.4 9.4 | —
&ITHEEL1TH Eeit — | BEAR | rhME Mk¥E hME ke -
E| AT e 1 X3 —hl 3.3t 5.0 | —|  —|  —
ERRLISN O XI5
1 RaEimw 40 | L1(P 5.1ff 13 4.4 44— —
2 LRELU o i 40 | 1.1 |F 3.7/ 7340 3.8 3.8 | —
) ZORT R R X3 —t 3 et 5.7 |~ | —
R O K IE
1 [EiE - Ry 40 | L.1|d 6.5F 14+ 7.8 7.6 — —
2 LELU OISR 40 | L1|F 3.6 6.7% 5.4 5.4 —| —
bl BELRT Y Hb X —ffd 2. 48 5. 5 - - - -
LRELLA DR S5
1 RGERY 40 | L1|F 47 13 e ahes - —
2 EFLA o sk 40 | L1|d 2.9fh 7.2 5. 4P 5.4 - —
=7 HIAKET 2 P b PR — 2.6 5.5 — - —| —
LERES DX
1 JRERW 40 | L1(P 4.3 120 9.2h 9.2 - —
2 FECLISh o 40 | 1.1|% 3.5/ 6.8 6.7P 6.7 — —
I ET £ P L U ot 2.5 5.4 —|  —|  —| -
ERLEAA D X I
1 RaEnwy 40 | L1|d 3.9 1F 58P B8 | —
2 LELIS o i, 40 | L1|F 2.9 6.1 5.3 5.3 |  —
(L1 FHET fi P b X3 —l Lol 5.3 | | | —
LFREIA D K i
1 HSERL 40 | L1|F 4.9 15F 4.4 4.4 | —




ST 495y i = X 14E
i KET A4 . IndETH R E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
K1 W HIET 2 ERELSA ORI 40 | L1(F 2.3 6.9 3.7 3.7 —| —
Wl JHAET P X3 —Ft 2. 88 4.5 —| - —| -
LERLIA o Kt
1 RERWy 40 | L1 6.gF 19 47 4 | —
2 EECLIA oD 40 | L1|¥ 3.6 6.3%0 3.8 3.8 —
&| HEHET it FH 1L X3 —hl 2. 300 5.6 0 —|  —| —| —
ERRLISN O XI5
1 RaEimw 40 | L.1(P 3.5 g9 8.9 8.9 —| —
2 LRELU o i 40 | L1|4 3.2 6.2% 5.4 5.4 |  —
| FHHET ot F I —t 2.6 360 —|  —| - —
R O K IE
1 RiERW 40 | L1|# 5.8 9.2 3.4 3.4 — —
2 LELU OISR 40 | L1|F 2.9 4.3 3. 1t 3.1 - —
i A my Y Hb X —ffd 2. 48 5.2 - - - -
LRELLA DR S5
1 RGERY 40 | L1|F 3.8 11f e8P 68— —
2 EFLA o sk 40 | L1 2.7 6.1 5. 9P 5.9 - -




